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Solve each problem.

Addition Using Open Number Lines

Name:

1) 74,703 + 20,306 =

2)

3)

4)

5)

6)

7)

8)

25,679 + 23,513 =

32,702 + 20,518 =

72,596 + 25,658 =

49,641 + 25,114 =

21,195 + 4,595 =

40,249 + 38,809 =

45,600 + 12,519 =
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Addition Using Open Number Lines Name. Answer Key
Solve each problem. Answers
1) 74,703 + 20,306 =
74,703 94,703 95,003 95,009 1 95,009
< & e e 9 >
+20,000 +300 +6 2 49,192
2) 25,679+ 23513 = 3 53,220
25,679 45,679 48,679 49,179 49,189 49,192
—e——9o —e 9o o o > s 98234
+20,000 +3,000 +500 +10 +3
5 74,755
3) 32,702+ 20,518 =
32,702 52,702 53,202 53,212 53,220 6. 25,790
+20,000 +500 +10 +8 7. 79,058
4) 72,596 + 25,658 = 8 58,119
72,596 92,596 97,596 98,196 98,246 98,254
+20,000 +5,000 +600 +50 +8
5) 49,641+ 25114 =
49,641 69,641 74,641 74,741 74,751 74,755
+20,000 +5,000 +100 +10 +4
6) 21,195+ 4,595 =
21,195 25,195 25,695 25,785 25,790
+4,000 +500 +90 +5
7) 40,249 + 38,809 =
40,249 70,249 78,249 79,049 79,058
+30,000 +8,000 +800 +9
8) 45,600+ 12,519 =
45,600 55,600 57,600 58,100 58,110 58,119
+10,000 +2,000 +500 +10 +9
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